Aceo : (top-botiom or (cignt - left)

ﬂ:-xl+9\ } X=y, x=4
= X ol
9_W > {///
TO? ~>(-"+)_= x g(qu-._)dy ]%

S (' (42 '% & X+x2=0
-2 (X010

~2







\falume by revpltion

——:Df sKs - ( i - ﬂis)q—
I

e X=5 | z:
\",T ﬁ(‘j’-_ 5) C{U r%:q

Washers:

%L - % )
(W\‘er*&m'&x'as) — (i nneron 'ax@

———

:I}S(— //// ’ ’ _’9-9
X=2 X y=x PR
S / [ x=3 i

e
(0-‘5* (¥

- q)l)&x



|

()(1- 3%3))(1,)(
3
S(ﬂxﬁqwﬁc}x
h y’-‘?j(-i-,}:)i ]- 3 B X J
LI S Srdim %,
y=u-3 y{3)-3(})+3 (~ 6" -('—;‘3*'2-3
:i-.j;_i-} j‘—g-rj = _3_3,

O=ax-3

L.S=Y





















1.,
X

iy 2

T (seex- D) X

V

wld
T Funx

ﬁ(l)‘;ﬁ



